BID SCHEDULE

2021 Miscellaneous Concrete Public Works Bid Schedule A

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
202A	REMOVAL OF CURB AND GUTTER TYPE 2	LF	745	\$ 10.00	\$ 7,450.00
202B	REMOVAL OF CURB, GUTTER AND SIDEWALK	LF	400	\$ 10.00	\$ 4,000.00
202C	REMOVAL OF SIDEWALK	SY	460	\$ 20.00	\$ 9,200.00
202D	REMOVAL OF CONCRETE PAVEMENT	SY	30	# 27.00	\$ 810.00
202E	REMOVAL OF CURB RAMP	SY	485	\$ 20.00	\$ 9,700.00
202F	REMOVAL OF CURB RAMP ADA DETECTABLE WARNING	SF	10	\$ 50.00	\$ 500.00
202G	REMOVAL OF ASPHALT MAT	SY	50	\$ 20.00	\$ 1,000.00
203	UNCLASSIFIED EXCAVATION (CIP) (6") (CONTINGENCY)	SY	20	\$ 40.00	\$ 800.00
210A	TYPE R INLET TOP	SF	100	\$ 80.00	\$ 8,000.00
210B	TYPE R INLET PAN	LF	20	\$ 70.00	\$1,400.00
304	AGGREGATE BASE COURSE (CLASS 6) (6") (CONTINGENCY)	SY	10	\$ 40.00	\$ 400.00
403	HBP (PATCHING) (GR SX) (6") (CONTINGENCY)	SY	50	# 100.00	\$ 5,000.00
412A	CONCRETE PAVEMENT (8") (HIGH EARLY)	SY	5	140.00	\$ 700.00
412B	CONCRETE PAVEMENT (10") (CROSSPAN) (HIGH EARLY)	SY	25	\$ 110.00	\$ 3,500.00
608A	CONCRETE SIDEWALK (4")	SY	10	8 75.00	\$ 750.00
608A	CONCRETE SIDEWALK (6")	SY	450	\$ 10.00	\$ 31,500.00
608B	MOUNTABLE CURB CORNER RAMP (ADA)(CAST IRON)	SY	475	\$ 150.00	\$ 71, 250.00
608C	MOUNTABLE CURB MID-BLOCK RAMP (ADA)(CR4)(CAST IRON)	SY	10		500.00
608D	CURB RAMP ADA DETECTABLE WARNING REPAIR	SF	10	\$ 90.00	\$ 900.00
609A	MOUNTABLE CURB, GUTTER AND SIDEWALK 6'6"	LF	.75	\$ 70.00	\$ 5,250.00
609B	MOUNTABLE CURB, GUTTER AND SIDEWALK 7' 11"	LF	325	\$ 10.00	\$ 22,750.00
609C	CURB AND GUTTER TYPE 2 (SECTION I-B)	LF	200	8 60.00	\$ 12,000.00
609D	CURB AND GUTTER TYPE 2 (SECTION II-B)	LF	525	8 40.00	\$ 21,000.00
609E	CURB AND GUTTER TYPE 2 (SECTION II-M)	LF	20	\$ 40.00	\$ 800.00
620	SANITARY FACILITY	LS	1	\$ 2,000.00	\$ 2,000.00
626A	MOBILIZATION (INITIAL)(APPENDIX A)	LS	1	\$ 20,000.00	\$ 20,000.00
630A	TRAFFIC CONTROL MANAGEMENT (INITIAL)(APPENDIX A)	LS	1		\$ 8,500.00
630D	VARIABLE MESSAGE SIGN (2 VMS PER DAY)	DAY	40	\$ 2,000.00	\$ 8,000.00
720	MATERIALS SAMPLING & TESTING	DAY	40	\$ 500.00	\$ 20,000.00
F/A	MINOR CONTRACT REVISIONS	LS	1	\$10,000.00	\$10,000.00

TOTAL PROJECT COST: \$ 360,660.00

11.		-			
th	0	US	QY	rc	

TOTAL PROJECT COST IN WORDS: Three hundred Sixty six hundred Sixty

and zero cent

Chase Drains Bid Schedule B

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
202	REMOVAL OF CURB, GUTTER AND SIDEWALK	LF	150	\$ 30.00	\$ 1,500.00
609	SIDEWALK CURB CHASE DRAINS (CHASE ASSEMBLY PROVIDED)	LF	150	\$ 80.00	\$ 12,000.00
626	MOBILIZATION (INITIAL APPENDIX A)	LS	1	\$ 5,000.00	\$ 5.000.00
630	TRAFFIC CONTROL MANAGEMENT (LOCAL STREETS)	LS	1	\$ 3,000.00	\$ 3.000.00
720	MATERIAL SAMPLING & TESTING	LS	1	\$ 1,800.00	\$ 1,800.00
F/A	MINOR CONTRACT REVISIONS	LS	1	\$1,000.00	\$1,000.00

TOTAL PROJECT COST: \$ 27,300.00

	TOTAL PROJECT COST IN WORDS:	Twenty -	Seven	thousand.	
three hundred and	zero cents	1			

Front and Milestone

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
202	REMOVAL OF ASPHALT MAT	SY	140	\$ 20.00	\$ 2,800.00
203A	UNCLASSIFIED EXCAVATION (CIP)(CONTINGENCY)	CY	5	\$ 40.00	\$ 200.00
203C	TEST HOLE	HR	5	\$ 100.00	\$ 3.500.00
304	AGGREGATE BASE COURSE (CLASS 6 RECYLCED CONCRETE CONTINGENCY)	TON	8	\$ 40.00	\$ 200.00
403	HOT MIX ASPHALT (Grading SX) (75) (PG58-28) (CONTINGENCY)	TON	5	\$ 220.00	# 1,100.00
609	CURB (Median) Type 2 (Section B)	LF	510	\$ 50.00	\$ 25,500.00
610A	MEDIAN COVER MATERIAL (CONCRETE)	SF	500	\$ 25.00	\$ 12,500.00
610B	MEDIAN COVER MATERIAL (STONE)(4")	SF	80	\$ 22.00	\$ 1,760.00
610C	MEDIAN COVER MATERIAL (PATTERN CONCRETE)	SF	80	\$ 28.00	\$ 2,240.00
208	EROSION CONTROL	LS	1	\$ 3,000.00	\$ 3,000.00
208C	CONCRETE WASHOUT STRUCTURE	EA	4	\$ 2,000.00	\$2,000.00
630	TRAFFIC CONTROL MANAGEMENT	LS	1	\$3,000.00	\$ 3,000.00
626	MOBILIZATION	LS	1	\$ 5,000.00	\$ 5,000.00
627	SIGNING AND STRIPING	LS	1	\$ 9,500.00	\$9,500.00
620	SANITARY FACILITY	LS	1	\$ 2,000.00	\$2,000.00
F/A	MINOR CONTRACT REVISIONS	F/A	1	\$1,500.00	\$1,580.00

Bid Schedule C

TOTAL PROJECT COST: # 15,800.00

TOTAL PROJECT COST IN WORDS: Seventy - Five

thousand zero cents hundred and eight

Eliminated per Traffic Engineering

Autumn Sage BARBWIRE AND PICKET WIRE Ped Refuge

Bid Schedule D

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
202	REMOVAL OF ASPHALT MAT	SY	107	\$ 20.00	\$ 2,140.00
203A	UNCLASSIFIED EXCAVATION (CIP)(CONTINGENCY)	CY	5	\$ 30.00	\$ 150.00
203C	TEST HOLE	HR	5	\$ 700.00	\$ 3.500.00
202E	REMOVAL OF SIDEWALK	SY	45	# 20.00	\$ 900.00
304	AGGREGATE BASE COURSE (CLASS 6 RECYLCED CONCRETE CONTINGENCY)	TON	5	\$ 40.00	\$ 200.00
403	HOT MIX ASPHALT (Grading SX) (75) (PG58-28) (CONTINGENCY)	TON	5	\$ 220.00	\$ 1,100.00
609	CURB (Median) Type 2 (Section B)	LF	150	\$ 60.00	00.000,9\$
610B	MEDIAN COVER MATERIAL (STONE)(4")	SF	95	\$ 25.00	\$ 2,375.00
208	EROSION CONTROL	LS	1	\$ 3,000.00	\$ 3,000.00
208C	CONCRETE WASHOUT STRUCTURE	EA	1	\$ 2,000.00	\$ 2,000.00
608C	MOUNTABLE CURB MID-BLOCK RAMP (ADA) (CAST IRON)	SY	45	\$ 150.00	\$ 6,750.00
630	TRAFFIC CONTROL MANAGEMENT	LS	1	\$ 3,000.00	\$ 3,000.00
626	MOBILIZATION	LS	1	\$ 5,000.00	\$ 5,000.00
627	SIGNING AND STRIPING	LS	1	\$ 4,200.00	\$ 1,200.00
620	SANITARY FACILITY	LS	1	\$ 2,000.00	\$ 2,000.00
F/A	LANDSCAPE/IRRIGATION MODIFICATIONS	LS	1	\$ 30,000.00	\$ 30,000.00
F/A	MINOR CONTRACT REVISIONS	F/A	1	\$1,500.00	\$1,500.00

TOTAL PROJECT COST: \$76,815.00

TOTAL PROJECT COST IN WORDS: Seventy - Six eight hundred fifteen and zero cents

Red Hawk and Thatch Circle Bid Schedule E

thousand

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
202	REMOVAL OF ASPHALT MAT	SY	10	\$ 20.00	\$ 200.00
203A	UNCLASSIFIED EXCAVATION (CIP)(CONTINGENCY)	CY	3	4 40.00	\$ 120.00
203C	TEST HOLE	HR	2	\$ 700.00	\$ 1.400.00
304	AGGREGATE BASE COURSE (CLASS 6 RECYLCED CONCRETE CONTINGENCY)	TON	3		\$ 120.00
403	HOT MIX ASPHALT (Grading SX) (75) (PG58-28) (CONTINGENCY)	TON	3	\$ 220.00	\$ 660.00
609	CURB (Median) Type 2 (Section B)	LF	35	\$ 15.00	\$ 1,575.00
610B	MEDIAN COVER MATERIAL (STONE)(4")	SF	50	\$ 22.00	\$ 1,100.00
208	EROSION CONTROL	LS	1	\$ 2,000.00	\$ 2,000.00
208C	CONCRETE WASHOUT STRUCTURE	EA	1	\$ 2,000.00	\$2,000.00
630	TRAFFIC CONTROL MANAGEMENT	LS	1	\$ 2,500.00	\$ 2,500.00
626	MOBILIZATION	LS	1	\$ 5,000.00	\$ 5,000.00
627	SIGNING AND STRIPING	LS	1	\$ 2,000.00	
620	SANITARY FACILITY	LS	1	\$1,000.00	\$ 1,000.00
F/A	MINOR CONTRACT REVISIONS	F/A	1	\$1,500.00	\$1,500.00

TOTAL PROJECT COST: \$ 21,175.00

thousand, one hundred seventy - five and zero cents

Autumn Sage and Dusty Coyote Bid Schedule F

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
202	REMOVAL OF ASPHALT MAT	SY	25	\$ 20.00	\$ 500.00
203A	UNCLASSIFIED EXCAVATION (CIP)(CONTINGENCY)	CY	5	\$ 40.00	# 200.00
203C	TEST HOLE	HR	3	00.00F	\$ 2,100.00
304	AGGREGATE BASE COURSE (CLASS 6 RECYLCED CONCRETE CONTINGENCY)	TON	5	\$ 40.00	\$ 200.00
403	HOT MIX ASPHALT (Grading SX) (75) (PG58-28) (CONTINGENCY)	TON	5	\$ 220.00	\$1,100.00
609	CURB (Median) Type 2 (Section B)	LF	70	\$ 70.00	\$ 4,900.00
610B	MEDIAN COVER MATERIAL (STONE)(4")	SF	17	\$ 22.00	\$ 374.00
208	EROSION CONTROL	LS	1	\$2,000.00	\$ 2,000.00
208C	CONCRETE WASHOUT STRUCTURE	EA	1	\$ 2,000.00	\$2,000.00
630	TRAFFIC CONTROL MANAGEMENT	LS	1	\$3.000.00	\$3,000.00
626	MOBILIZATION	LS	1	\$ 5,000.00	\$ 5,000.00
627	SIGNING AND STRIPING	LS	1	\$3,200.00	\$3,200.00
620	SANITARY FACILITY	LS	1	\$ 2,000.00	\$2,000.00
F/A	MINOR CONTRACT REVISIONS	F/A	1	\$1,500.00	\$1,500.00

TOTAL PROJECT COST: # 28,074.00

thousand, seventy four and zero cents

TOTAL COST BID SCHEDULE A: \$360,660,00 TOTAL COST BID SCHEDULE B: \$27,300.00 TOTAL COST BID SCHEDULE C: \$75,800.00 TOTAL COST BID SCHEDULE D: \$76,815.00 TOTAL COST BID SCHEDULE E: \$21,175.00	-
TOTAL COST BID SCHEDULE F: # 28,074.00	
GRAND TOTAL PROJECT COST: #589,824.00)
TOTAL PROJECT COST IN WORDS: Five bundred]
eighty - nine thousand, eight hundred twenty four and zero cents	
Reduction described in Engineering Memorandum - Accepted by contractor	

NOTE: For project "TOTAL PROJECT COST" to be considered, all individual bid schedules cost must be completed.

NOTE: Lowest bid will be based on the lowest "GRAND TOTAL PROJECT COST".